





(1)

(@)

HIVP

(3)

2508B

U250



@ 150

0 450

(4)

¢ 150

0 450

(5)

LED

FEP CE/F



(6)



(7)

(8)

(9)

H=1500 B H=1800



(10)

(11)

90



2 450x 450
450x 450

3 LED H=5000

4 LED H=5000

5 H=5000
(L=5.8m ¢ 115.3)
ELB2 P30/15A

6 300x 300x 80
300x 300x 60

40

7 H=2500

8 H=2000

9 H=2500

10 H=1900 2000

11 H 1500 1600

12 H=900 1200

13 H=800 1000
1200

14 1000x 2000

1000x 1000




15

16 W=1800 1840
400 416
17 W=1800 1840
400 404
18 A H=650 3000
10°
19 B1 H=1500 2000
10
B2 H=1500 2000
1° 35°
20 c1 H=1800 2000
10
c2 H=1800 2000
1° 35°
21 D 45° H=1100 2000
22 E 45° H=1500 2000
23
24 H=450 ¢ 250

H=450 ¢ 250

H=1400

H=2000




GL

h

/

/

7

/

X

/
/////

(m) (m) (m) (m) (m) (m3) (m3) (m3)

0.10 0.33 0.25 0.69 0.37 0.017 0.090 0.073

0.10 0.15 0.38 0.28 0.75 0.40 0.028 0.140 0.112
0.15 0.20 0.47 0.33 0.87 0.46 0.061 0.270 0.209
0.20 0.25 0.57 0.39 0.99 0.53 0.110 0.440 0.330
0.25 0.30 0.66 0.45 1.11 0.59 0.170 0.650 0.480
0.30 0.35 0.71 0.48 1.17 0.62 0.210 0.760 0.550
0.35 0.45 0.90 0.59 1.41 0.75 0.400 1.340 0.940
0.45 0.60 1.13 0.74 1.71 0.90 0.740 2.280 1.540
0.60 0.75 1.41 0.91 2.07 1.09 1.320 3.700 2.380
0.75 0.90 1.70 1.08 2.43 1.28 2.080 5.450 3.370
(m) (m) (m) (m) (m) (m3) (m3) (m3)

0.30 0.15 0.08 0.29 0.23 0.001 0.015 0.014

0.30 0.50 0.17 0.10 0.33 0.26 0.002 0.022 0.020
0.50 0.80 0.20 0.12 0.37 0.28 0.004 0.030 0.026
0.80 1.00 0.22 0.13 0.41 0.31 0.005 0.040 0.035
1.00 1.50 0.26 0.16 0.46 0.35 0.008 0.057 0.049
1.50 2.00 0.30 0.19 0.54 0.40 0.013 0.090 0.077
2.00 2.50 0.35 0.23 0.61 0.46 0.022 0.133 0.111
2.50 3.00 0.40 0.26 0.69 0.51 0.032 0.188 0.156

1

no Scale




650

100

450

100

T=2 6

650
450

100

550

100

EVe————
EeeV————=

H

100 100

545

650

100

450

100

ek

(

50

650

18-8-25(20)
50

750

(RC-40)

650

650
100 450 100
T=2 6
S
—
o o
T) Lo
<t Te]
o
o
—
545
| 650 |
100 450 100
[ 1
I
ﬁ®;§§
Q>
N/ C
3 o 18-8-25(20)
|
gl i l
™ |
! ( )
o
S 110 140g/m2
50 - 650 >J 5 @)
tk\\ (@D)
750

2

A3 S=1:20




BELEEE S=1:40

BARE (989. 1F)
LEDFY7 %W

5000

BEXITAIE (h5-8%) F—1—FK-n
/ HE: BEERA v HEEREE

¢ 89

2770

139.8

o

1100

o FACIER:400 % 100
] LDERZE
T TR Yadvbaizy b+ EFMS—15A
e/
3
©o
| | 6.L
Foh—RL b
avyy-rEf

100

! ZM
0 500

0 600

HBAERE  S-1:40,20,10

FRBAFME S=1:10

¢ 508

EiR

R—Z27FL— FE#IE S=1:20 FFILA 05

PNt F DPVE -]

350
250 4 @30
[+ | ¥
3 ﬁ[ C) syy
) | (4 :
HYa—-7
DN
‘ Yok
1]
g = L3S
T R LHNY)
Q 77U NG RE
Foh—RiL FEHE $=1:20
JISHB8641 2 HDZ55
250
1
15%

F.B.50
%[
~N

4 EM-EEF2.0-2C
08Ity k-Tyy =t 56
(RMER L %)

[ cnirs:foRagsuss

B 1

==
=

200

500
w

A3




BEEER S=1:40

LED5v7 ¥BW

5000

IR
747%:676.3x110L

AERSTLSH (D5—B8K) F—i—FK-n
fHF : BMERA v X REERE

2770

1500

650

©139.8

o

BEOI&R:420x 115
_ Jadvbka=y bk EFMS—15A
1

1100

Fuh=kiv b

avyy-rER

100

BA
0 500

0 600

B RE S-1:40,20,10

FRAKEFME S=1:10

3-M6 ( )
( )
595
A—Z27L— AR $-1:20
/; I 10
N e °
| e A e : / N (
g ( )
+ | ¥ :
3 B /“\ ©69.1 t4.2 ( )/ 2-M10x 35 ( )
o \J ( ) 6mm
@ ﬂ{ 3x 2-M8x 10 ( )
( ) 4mm
400
1< I — I—'(
3-
7o A—HL bR $-1:20
5000K( )
PC
250
I F.B.50
4-W24
i g ST
g | [ msmn
U s ( )
v8 TR
3
EM-EEF2.0-2C
3 2




S=1:30

\w

O
O 154
)|
28mm
p 115.3
L=5.8m ¢ 115.3
/
] JIS2 100V10A
o
o
o
Lo
22mm
36mm —3
o
o
Te)
N
o
o
Te)
—
3
GL
[e]
(]
[ee] N
o
S -/
—
( )
18-8-25 20
S N
@ 10x 1500 - (RC-40)
0 500 0
O 600

( ) S=1:15
150 250
200 450 30 50 120| 200
T
|
3 R
(o]
(@]
O —
® O o
50x t4.5
30 50 =T
ELB2P30 15A
A 1147
EM-EEF2.0-2C
GL-750mm
A3




80

300

300

300

O 0 0 0 O0
O O 0 0 O
O 0O 00O
O 00 O0O0
O 0O 0 O0O0

{.,E? i{is SRS

TR F

L R T Ty T ,n& CMG RGN

50_150 30,

T FTTE R
PR =25

OGN

PR

AN o
S A A

B

BRESE /

294N

30kgf)/5cm

300x 300x 80

(RC-40)

10cm/sec

60

300

300

300

O O 00 O
O 0O 00 0
O O 00 0o
O O 0 0 O
O O 0 0 O

N

AT AR RO

5010030

R SR
R R

EEA SRR

N T LR 2 T TGO

294N 30kgf)/5cm

300x 300x 60

(RC-40)
)

10cm/sec

S

(

) 18-8-25(20)
(RC-40)

6

A3 S=1:10




4500 5600

0028 006.

C
L

o

o

g ét
i i

00ST+ b——d

r L] L T ra L] oy
L L L N L L L
=" 0S¢ ="

sl | _
& L_— __
_ lo]
MU
L

C 1
. J
-
|
|
j§>ﬁ fl fl
I U
|
-
1500
C
. J

r
L
j
-
L
r
L

0sy ommﬁ A

mm 0S
hOT 00T
00S¢ _oov

u

300
400

—
®
00T\
_ \, 00¢
059 ooo_ 7 __ 00T
0| ©
B N
N gl O
o ~
a1 &R
™
= ™ -$
S i _
1) © 7
© ~
(=)
1_A_.. r
IS
x
<
e
S ~
S
nﬁ &
o
S
a N
b
O
& >—0—
N
~
~ 3 ()
PN )
™
p-4 e
1 ©o F
S
~ e

18-8-25(20)

18-8-25(20)

/// 350 500

¢ 12

50

A3 S=1




o
8
32A(13.5
3
32A(13.5) 71 §’
( C N 1o
18-8-25(20) 18-8-25(20) ——
< g
18-8-25(20) (RC-40) o
SUU | O
400 | (RC-40) 0 350
2400 3000
50A(13.8) 20
AN [
40A 3.5 1
s\ |g
N
o
Lo
_m_
S—6G.L
0 12 300 400 % —=
— )
zol| |8
350

(e}

4500 5600

500

[
C

1500

r I - [
L () () T
o
' 1 i
H Ly

L] .

L]
C

6900 7200

8

A3 S=1:50




|600 650

Va—

/N

32A(t3.5
32A(t3. SQﬂ

200 '

18-8- 25(20) —
18—8—25(20) S
—
C ) (RC-40)
18-8-25(20) (RC-40) = 250 —
0 350
5400 6000 .
80A(t4.2 ‘
H—z 2 / BOA(13.8) 50A(13.8)
H H H o
3
3 <
o
Lo
9
S 6.
350 500 EZ — 3
o

4
100

300 !
400

7500 8500

el L1 I I L L1
L L L1 L L L
o
S
rs)
-
1 1
ol 300 L1
r—A r—a +— 7
I I o I
I I o I
L LA < a
1 m
L L
_ { i I I 3 i { {1 {
r S:I: 1
L1 Nl N
r rgn q
| | | | | |
I o o
LJJ L_d L_
500
1 1
L L1
1500
. 1 L1 rd L1 [CH1
L L [ L L L

7900 8600

9

A3 S=1:50




300 ﬁ) g x 400 l
[
— O 13.2 - _
= | | Bl || _ _ - - - 1 S
B S B g ) ml .
600 800 600 800 S=1/8
2.3
_ 20A(t 100 L
T H 20A12.3) 7~ \_ o
S =
= —
I
g g
S —
3900 4000
o o
S o
S o
Q N
S 80A(t4.2 g
= o »
3 / < -
o
=
S _ S 6.L LI S
B g 717 > =P\
3 x Yo}
i / = - Bl —3"
o © = _8-
s — oo % a ) . 3 500 18-8-25(20)
00 © :
4 = 250 700 18-8-25(20)
C ) | 0 600 | =
(
18-8-25(20)

10




300 ﬁ S 400
<t I |
| l
— 2 3.2 _ — _
S | % | g A L S
o8| | | | | | ©
R B - [ L
$=1/8
600 800 600 800
20A(t2.3
) 100 .
o | 200(2.3) /7 o
S S
— —
ol 8 o
o o o
= |-
7 — (3000 3300)
2 2
[{e} O
— —
3
2 N 2
B 80A(t4.2 B
— o —
/ =
= \ - S G.L LI S
4 ) 1 [ S ¥ o
§: gl= Al o5 7\ -
o™ — il P EH —=r )
S 300 o 15 Ou S 500 18-8-25(20) C
1 400 S 250) 700} \'18-8-25(20)
C ) (RC-40) (RC-40)
18-8-25(20)
)
18-8-25(20)
M

11




‘ 1800 1800 ‘
© 28 _
1 1 N
| o oo 0 | 8
L | L | [ I |
300
3600
1800 1800
@ 28
o \ ¥
o
_ S 50A(t3.8)
3
o
) 1S
18-8-25(20) o
o
ﬁj
Y o
18-8-25(20) / =
300
(RC-40) 400

G.L

AN

400
500

12

A3 S=1:30




1800 , 1800 , 1800

—

-

28
- 7 7 a T
o a0 =60 FO | 8
L i
300
5400
1800 , 1800 , 1800
‘ @ 28

800
1000
1200
a1
o
>
~+
w
AZ//t;

GL
C ) —S i
18-8-25(20) = % %\
= ﬁ
( )Zﬂi; ;jjfff_c> Eﬁé:::}iﬁ
18-8-25(20) =
(RC-40) / 300 400
400 500
3
M
13
A3 S=1:30




(1000x 1000)

(2000x 1000)

0O 1000

=30
)
18 8 25(20) \\\ /

050505050505050505050.

SR SA A A A A A A A A

| 011000

RC-40 0 1100

100'200(30

GL

2000

1000

=30
=30
18 8 25(205 )x /S 3

(RC-40)

GL

14

A3 S=1:20




490 558
350 400

1T

LN
3 N O
o A//
o
LN
-y
o
() 18-8-25(20) S
(RC-40) I
= B
§ I
R I s ey
o
8
300 95x% 25 300
400 500x 350 400
« .
C ).
( )’
SP SPL

250 300

800

667 800

700 800

650

5%

50

18-8-25(20)

(RC_ 40)

o
S o
3 2
() 18-8-25(20)
VU-150 90° (RC-40)
o
S 100
100 600x 600
50 800x 800 50
900x 900
800 667 800
45 710 |
o 45
<
o il
1 o
| o
ol|lo ] hl
ol =
0|~ \ o
| B
| p— ®
| [l ) =
(9p]
2 ) _\__ﬁ
700x 700x 32
300 395
)
15

A3 S=1:30




1800 1840

570 615

55 70x 30
600 620 . 570 600 | 600 620 . 570 615 (FC200)
L dl < (FC200)
! ! : 3 3
(@]
o
M | ! | ¥
7| g 7 ) t|1 ii
Va ~ // 18-8-25(20)
BCS S N
RC-40
( ) S=1/10
250 700
350 800
1350 1780
— — (FC200)
) SP SPL
q_F g B | ( )
S=1/15

16




(FC200)

55 70x 30

390 435

(FC200)

1800 1840
600 620 570 600 600 620 ‘ 390 435 ‘
I J
o
<
o
o
<
¢¢7 = g C )
A%% I Aég? 18-8-25(20)
\ g T
(RC-40)
250 550
350 650
1350 1780
i (FC200)
i ( SP

S=1/15

SPL

17




3000

3000

42.7x 2.3 3 3
b / S b &
/ o o
& £y
ja EDRY =) - 3 - -
100 I § 8 3 . 1 3 D o
© 60.5x 3.2 ® 60.5x 3.2 o = o S
N g \ g
Wilgy B 228 [ T N4 N4
3 g 8
LL \\ LL o~ | § Ll
SSTeTETSTeTeeTeeSenel eieleer el el e s L L oL et L L S L aL! <z o
() 18-8-25(20) (RC-40) S = 1 3
50 200
$=1:20 o = s0_| | 0300
350% 400
S=1:4
. . —I ) STK400
4 % N o =% SGMH400
— — 65 83 = SGMH400
(] R
< \Hj T 4.8 5
BN M12x 65(W )
BN M12x 65(W ) /
Al M7 A
T OO W
’ 18

BN M12x 83(W )

A3




2000

2000

e & 0 0
- — O o pid m '
N~
S8
100
. iz \ 5 B i
) ol M) i I |y E——
oL ° 3 = IR 1| I —
it ¢ 50.8x 2.3 @ 50.8x 2.3 - o B 8
(IS Sadl il L B T <2 -+ 1 3
Q f; o ( )1
_ o)
o
) 18-8-25(20) \ (RC-40) S 8
50 | | 200 =
50 | [0 200
250
I 250x 300
STK400
— I SGMH400
~
ol SGMHC
<
L; e SPHC
05.0 @ 4.8
(¢ 4.5)
19

A3 S=1:20




2000 2000

(PR E R 1 1
S
100
CTER i KN B \ & B _*3*_
8 8 T T ‘ [ 2o
GL+0m =] <
il ©50.8x 2.3 ©50.8x 2.3 @ 6 3 o
~~ - ™ o < g
N AN AN / E 7 % :
oy E g = (
()18 8 25(20) (RC-40) §: 8
50 200 50 0 250
250 300% 300
STK400
f— — SGMH400
~
o|® SGMHC
i SPHC
>
©5.0 g 4.8 5
(9 4.5)
20
40
A3 S=1:20




S=1:20

2000 2000

t 1.6 ¢ 21.7x 1.9

E%g ’/444444444447 100

’G\ ) o ) ) o ) o ¢ )

1050
1100

100
LS 5 . . - 5 . . . TS . . S
E ATy A .
6L+0m /9 60.5x 2.3 @ 60.5% 2.3 2 § o) I oy A
2 | IO PN
///f' t 1.6 - o 3 o
re] S 1
N
N
-
A oy |
o
18 8 25 = o
50 200 S
50 | | 0180
250
230 x 280
S=1:2
[_L
s
/
S 21
M A3 S=1:30




o)

{e

,$60. 5x2. 3

VGL+0Om

$60. 5x2. 3

™~

Y.

i

(@]

Te)

T Y]

o

[e)

o~ /

o B &

o

T 50| | 200
250

o
m — —
o o | |3
L‘? Sr ".-"-/I
o 4
> e
o
o
T 50[M200
250%x300
D
22
A3 S=1:30




2000

' 637.5

757
757
757
Q
)

/,
\.
957
1157
Js
ol

o : % -
<t
A e == &
600 m w &7
AN (RC-40)
300
o) @ 60x 3.0t ABNO1S-T5 |JIS H 8602 B )
0 © 40 (¢ 36x 3.0t) | A6NOLS-T5
(©) A ¢ 60 ADC
4 B @40 ( =74) AB6063S-T5
(%) A |lod40 (@ / ) ADC
(6) B @40 ( =75) A6063S-T5 ( )
) © 40 AC4C
(8) @ 170 AC7A
() M8 ADC
277.5 (10) M8x 15 B,W
6 (11) M8x 20 B,SW
) 5—2\ (4 /@l 12) C ) ¢ 4x 19 B
10 | — ( N ) ( (13) () ©4x 19 B SuS
3 Z/ L [ ) Q */ \A ) ¢ () M6x 6 B
7 ( L}&r 12) ¢ (15) M8x 10 B
8- 13 I il I l I (16) M10x 100
" J 5 ©/
N N N
— \—; —
00| o] 00|
S 3 S
/]
N — R N N 23
A3 S=1:30




)
(RC-40)

0Sy 0S¢ 00T

i) 9¢€ ﬁodﬂ

18-8-25(20)

15

1

24

A3 S

@ 250

|

|

i

|

|

T
in] 114
0 300

0 400

¥ .
P W o —
X : 0c  05°
o &
g ~ 00/
Ln
~ —
S X
N E:
< 3
(3
A
Lo
S
£
&
S 3
1924 I
> 0L s |8
(%)
0 'MIb
\J
22
9
~ <
O
<
o’
o 0SY 00€
N _
N 9vT 9 0S¢ 7
(<]
©
—
3 AWMHHH =MW- ||||||| 1 3| 8
N9 — 1t - @ <
S T\ || e < gl O
9 g - AN %
—
8 0z 05
002

(STK400) @ 60.5x t2.3
(STKR400) O 125x 3.2

@ 250




S=1:5 S=1:10
SUS304 @ 50 t=1.5 L 600
[
SUS M4
3 © O O
(9]

SUS FB-25x2.0 H.L

SUS304 t=3.0 H.L

DIC388

DB

SUS304

720 SUS304 SUS304
50 500 5 ® 50 t=1.5 ® 50 t=1.5
‘ 10 380 10
o / o
S f ) S i S
/////// SUS304 t=3.0 H.L
ol © //////// o
ol © o
\ )
SUS304 t=3.0 H.L
o o
o o
< <
— —
o o SUS304
S S ¢ 50 t=1.5
— —
SUS304 /
® 50 t=1.5
/ 18-8-25(20)
YV GLL Y G.L %%7
o o
o o
< <
8 3 2 = = el 8 A = A %
— ISOSOSOS VAR VAR VAR VAR — AR VAR VAR A
200 | 200 RC-40
300 300
670 |
S=1:10 S=1:10

CHIBA CITY
A

L] M60+Y100 — Y100 )

o~/
\‘“L M100+Y10 —

M10+Y20
M65

C80+Y100
C100+M40+Y100

HL

25

A3




97 900 97

30

OO0OOLE
anuoificy,
2 cRliARg st

ROZEEF>TTFEW,

t-ie

R | eeduisombiit,
#E s zniyolt, @80 re
N EornBR-HERROT Y H— TN IF)
Ei F— bt -BEROR ki,
&
(o] Ro7vie, Brdshotcrawn, Rokul
(D8] (81 Bomozseoh.
- SR LEL & 5,

FRECABRAEBR
TEL:043-000-00D
amar

1100

TsBTHERo TS,

2000

30

GL

97

SUS

¢ )
18-8-25(20)

(

600

|
997
| |
| |

100

EReRrO RSy

(t=3.0 )
ISO 9001:2008
)

60
700

(RC-40)

10

1100

t=2.0
70
Lj.n. L
t=3.0 ok
1=6.0
=
® @

26

A3 S=1:20




